3.7.8 Déleni mnoho élenem Il

Predpoklady: 030707

Pr. 1. Vypocti.
a) (5a-b)(2a-30b)-(2a+b)’ b) (3x-4)" -(x-5)(3-2x)

2 (5a-b)(2a-3b)-(2a+b)* =10a’ ~15ab - 2ab+30* - (4a” + 4ab+b?) =
 =6a? - 2lab+ 207

(3x—4)" —(x—5)(3-2x) = 9% —24x+16 - (3x— 2’ ~15+10x) =

L)
. =11x*-37x+31
Pr. 2: Vydél.

3 (a’-a-6):(a-3) b) (3x*+8x-35):(3x-7)

(a2 —a—6):(a—3) —a+2
—(a2—3a)
» a) 2a-6
| - (2a-6)
0

(3x2+8x—35):(3x—7) =x+5
: —(3x2 —7x)
b) 15x—35

~(15x~-35)
0

Pr. 3:  Vyadel.
a) (2a3+5a2+7a+4):(a+1) b) (3a3+5a2—a+2):(a+2)

0) (Ga +7a° 1) (2a+1) d) (a3—3a—2):(a—2)
¢ (a-3a’+3a* -3a+2):(a +1) f) (3a°-a®-17a-10):(3a+2)
9) (2a" —a’+12a’ +13a+28):(a* -2a+7)

(22° +5a° +7a+4): (a+1) =2a* +3a+4
—(2a3+2a2)
| 3a’+7a+4
8 ~(3a+3)
| 4a+4
~(4a+4)
0



(3a3+5a2 —a+2) (a+2)=3a’-a+l
—(3a3+6a2)

5 -a’-a+?2
' b) —(—a2—2a)

: a+2

-(a+2)

0

(6a° +7a” -1):(2a+1) =3a” + 2a-1

—(Ga3 +3a2)
5 4a> -1
0 —(4a2+2a)
| -2a-1
-(-2a-1)

0

(a3 —3a—2):(a—2) —a’+2a+1

—(a3—2a2)
| 2a*-3a-2
- d) —(2a2—4a)
' a-2
-(a-2)
0

(a4 -3a®+3a’ —3a+2):(a2 +1) —a’-3a+2

(ot va)
; -3a*+2a*-3a+2
e - (—3a3 —3a)
’ 2a’+2
~(2a%+2)

0

(3a®-a®-17a-10):(3a+2) =a’ ~a-5
—(3a3 +2a2)
; -3a’*-17a-10
) - (—3a2 - 2a)
| ~15a-10
-(-15a-10)
0



(2a“ —a®+12a> +13a+ 28) : (a2 —2a+7) =2a’ +3a+4

—(2a4—4a3+14a2)
3a® - 2a?+13a+28

9  -(3a°-6a>+21a)
: 4a®-8a+28
—(4a” -8a +28)
0
Shrnuti:



